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Roll No. | l 1 | Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.

PHYSICS SSC-lI
SECTION - A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should bhe completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark,

(1) A body has mass 0.5kg. If the spring constant of the spring is 8Vm ' what will be the time period of
the body.
A 12.4 sec B. 1.57 sec C. 15.7 sec D. 0.187 sec
(i} Sound waves are
A Compressional waves B. Longitudinal waves
C. Transverse waves D. Both A and B
{ii) The distance between the pole and the principal focus of a spherical mirror is called the
A Focal length B. Principal Axis  C. Aperture D. Centre of curvature
(iv) The charge of how many electrons would be equal to 104 ?
A 62.5x10" B. 6.25x10" C. 6.25 <10 D. [.25%10"
{(v) Platinum resistance thermometer can measure temperature from
A =260"C to630"C B. 2607 to 4307 C
C 120°C 1o 6307 C D. 1207 to 430°C
(vi) The ionization of /3 rays is nearly time less than « rays.
A 1710 B. 11100 C. 1/1000 D. None of these
{vii) A and B are the two inputs of NOR gate. Its output would be 1, when
A A=1B-=1 B. A=0. 8= C A=1.B=0 D A=0.8=0
{viii) At Kelvin, Silicon semiconductor behaves like an insulator.
A Zero B. One C. Two D. Three
(ix) Which of following bulbs has the least resistance?
A 300 watt B. 100 watt C. 400 watt D. 200 watt
(%) It is necessary to protect Floppy disk from
A. Water B. Magnet C. Heat D. Ali of these

{xi) A transformer has 140 turns in its primary coil and 280 turns in the secondary coil. If 6 Volt A C is
applied across its primary, the voltage induced across its secondary coil would be
A 0 volt B. 12 volt C. 30 voit D. 60 volt

{xil) The quality of sound waves depend on

A Frequency B. Wavelength C. Wave form D. Speed of waves
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Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet--B if required. Write your answers
neatly and legibly.

SECTION - B {Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=233)
i) Write down any three uses of Waves.
i) Why is the voice of ladies shriiler than that of men?

iii) Why is concave mirror used for make up or shave?

iv) if refractive index of diamond is 2.42, what will be its critical angle?

v) Two bodies are oppositely charged with 5004C and1004¢" . Find the force between the two charges,
if the distance between themin airis 0.5 m.

vi) State Joule's law with equation.

vil) Differentiate between Mechanical waves and Electromagnetic waves.

viiiy  State Faraday's law of Electromagnetic Induction.

ix) Find the energy produced from 200 gm of carbon if it is completely changed into energy.

i) State the rute by which the polarity of current carrying solenoid can be determined.

{
{
{
{
(x) What is meant by Doping and Depletion region?
{
(xi Write down the uses of radioisotopes in medicine.
(

Xii) Define Electric current.
(xiv)  When charge of +iu('is placed at a point, it experiences a force of [0 "\ Find the value of electric

intensity at this point.

{xv) What is meant by Protocol?
SECTION - C (Marks 20}
Note: Attempt any TWO questions. All questions carry equal marks. {2 x 10 = 20)
Q.3 a Explain the defects of a lens. How can they be minimized? (06)
An object 1 cm high is placed at a distance of 15 ¢cm from a convex lens of focal length 10cm.
Determine the nature, position and size of the image. (04)
Q.4 a Write a note on Weber Fechner Law. (03)
Define the following: (03)
(i Variable Capacitor (i) Electrostatic Induction {iii) Bronchoscope
C. The capacitance of a paraliel plate capacitor is 50 p Frarad. if the capacitor is charged by
battery of 12V, what would be the charge stored in the capacitor? (04)
Q.5 a. What is PN Junction? What is meant by Forward biased and Reversed biased Junction? (05)
Length of a Copper wire is 1 metre and its diameter is 2 mm. Find its resistance.
(specific resistance of copper is p=1.69x10"Qm) (03)
C. Write down the equation of NOR gate and draw its symbol diagram. (02)
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PHYSICS SSC-lI
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compuisory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(i)

(iii)

(iv)

{vii)

(xi)

(xii)

The product of frequency and time period is equal to

A v B. 1 - C 0 D. A
The frequency of silent whistle lies between .

A 20 KHz to 25 KHz B. 15 KHz to 20 KHz

C. 20 KHz to 30 KHz D. 5 KHz to 15 KHz

Which mirror is used in motorcycles and automobiles?

A Giant Concave mirror B. Concave mirror

C. Convex mirror D. None of these

What is the refractive index of Alcohol?
A. 1.30 B. 1.36 C. 1.003 D. 1.33
The potential at a point in an electric field is 100 V. If charge of 750.C is placed at this point,

what would be its potential energy?

A 25J B. 75 J C. 0.35J D. 0.075J
is used to diagnose the brain tumor.

A. lodine-131 B. Phosphorus-32

C. Cobalt-60 D. None of these

If 0.5C charge passes through certain surface in 10 sec, the current flowing through surface

will be

A 02A B. 0.5A C 0.02 A D. 50mA

The power of colour TV is .

A 120 watt B. 100 watt C. 500 watt D. 220 watt

The speed of sound in air is kilometer per hour.

A 1248 B. 1236 C. 1296 D. 1233

X=A.B. This equation is used for which operation?

A AND B. OR C. NOT D. NAND

The temperature at the centre of the Sun is nearly

A 20 million kelvin B. 20 million centigrade

C. 5 million kelvin D. 5 million centigrade

The distance between two neighbouring nodes and anti — nodes is

A 4 B.
2

C. 24 D. A

EN [
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Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33)

Q.2  Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=233)
(i) Define Crest and Trough with the help of transverse waves diagram.
(ii) Draw the wave form of Tuning fork, Piano and Noise.
(iii) Which lenses have greater power, the lens of less focal length or of greater focal iength?
{iv) Define Capacitance and its unit.
(v) Show by diagram how galvanometer can be transformed into an Ammeter and Voltmeter.
(vi) What is the difference between Step up transformer and Step down transformer?
(vii) What is the Limitation of Ohm's Law?
(viil} A step down transformer changes 250 volts A.C into 6 volts A C. If the number of turns in its

primary coil is 10000, find the number of turns in its secondary coil.
iX) Define Radio Isctopes with the help of two examples.
X) Draw symbol and truth table of OR Gate.
Xi) What is Telecommunication?

xii)  What is meant by Analogue Electronics and Digital Electronics? Give two examples of each.
xiv)  Prove 1kWh=36MJ.
XV) What do you know about Electronic Banking?

SECTION — C {Marks 20}

(
(
(
(xii) What is the function of DC motor? Also write its principle.
(
(
(

Note: Attempt any TWO questions. All questions carry equal marks. (2x10 = 20)
Q.3 a Explain the formation of nodes and antincdes in stationary waves. (04)
b. Find the time period of simple pendulum of 1 metre length on earth and moon. The vaiue of
g on the moon is 1/6" of its value on the earth. Where on the earth g = 10ms * {04)
c. Define S.H.M. (02)
Q.4 a Describe Gold leaf electroscope. By using this electroscope how can we find the: (07)
(1) Presence of charge present on a body
(i) The nature of the charge present on a body
(i) Whether a body is Insulator or a conductor
b. Write a note on Self Induction. (03)
Q.5 a. Differentiate between the following: (06)
(i) Atomic number and Atomic mass number

(i) Nuclear Fission and Nuclear Fusion
(iii) Stable Nuclides and Unstable Nuclides
b. The half life of krypton is 3.10 minutes. Out of 120 gram of kypton, how much will be left
after 12.4 minutes. (04)
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